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8.2 PART 2
MULTIPLYING POLYNOMIALS

Multiplying Binomials
and Trinomials

To multiply

a binomial Ll l é
by a binomial,

you can use the ( X + 4‘ (x )

FOIL Method. | | ‘

(3x + 4)(x - 5)

(3x9(x) + (31 (-5) + (4)( + (4)(-5)
FIRST 3 + -15x + 4x + -20
OUTER 3x° +\ii/ + -20
— x —
INNE |

LAST 3x -11x-20
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Use the FOIL method to find the product.
s |
1. (dx+ 1)(2x- 3)
P |

- > T L
UD(29) + (UAE) + @) + (NED)
6)(1 :\Zx\r + 2K -2

gx? —lox —3

Use the FOIL method to find the product.
3. (Bx-3)(2x+ 1)
@A) + GI0) + (A0 + 3D
lex? +&x —ex =5
\bxZ +2x —%
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Use the FOIL method to find the product.
= N
2. (x-5)6x-7)

(x)T(:CX) + (x\c(>—¥) + (- 53):(@0 + (-;(—l)
G x> —7#X —30x +35

Cx?- %X+ 35

Use the FOIL method to find the product.

4. (Bx+ 11)(4x+7)

(3R (Ux) + GOF) + DU + UN(F)
x> +2\x YR - 77

|2x* + @5A + F7
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You can also multiply
two binomials
using the
distributive property.

Recall from Chapter 2,
3(2x - 5) becomes 6x - 15.

5. %32 + bx - 8)

247 + Lx*— 8x

6. -3x(2x° - x + 4)
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Use the distributive property to find the product.
(x + 2)(x - 3)
(x + 2)(x - 3)
x(x-3) +2(x-3)
x() + x(-3) + 2(x) + 2(-3)

X + -3x + 2x + -6
~ —
X+ -1x + -6

X-x-6

Use the distributive property to multiply.
7. (x-2)(x+4)

D EEAE),

X% +4Yx —-2x — 9

X% £ 2Xx — 8
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Use the distributive property to multiply.
8. (2x+ 1)(x+2) or

% + 2
2_{?;?27 T Crad)

2x* + U +X + 2
7% + Ex+12

Regardless of whether
you like the FOIL
method or the
distributive property...
you MUST use the
distributive property to
multiply anything
larger than binomials!
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Use the distributive property to multiply.

9. (x+4)(x°-5x+7)
x+ 4)(x2 Sx+ 7.
x+\7 + 4(x° %7)

)( "52§ +7%x FUYX* —20x +2%
= x* — 12X +2%

Use the distributive property to multiply.
10. (x - 3)(32 + x - 4)

‘ Z; =~ TS 2 o >

X (3% *K‘LD—S <3>< 4= X — ‘-D

3¢ + X =Yx — IOx* —Bx + |2
3% —8x*—Zx + |2
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